
6SODVK�0HHW�0DQDJHU�����%XLOG����� 5HJLVWHUHG�WR�3ROLVK�6ZLPPLQJ�)HGHUDWLRQ �������������������6WURQD��

0LVWU]RVWZD�3ROVNL�Z�Sá\ZDQLX�-XQLRUyZ�0á�����ODW
'ĊELFD���������������

.RQNXUHQFMD��� &KáRSFyZ����P�JU]ELHWRZ\ ���ODW
����������������� :\QLNL�(OLPLQDFMH
3XQNW\��),1$�����

3R]\FMD 5RN�XU� &]DV 3NW�

�� %,(/(&.,�,JRU �� ĩ2/,%25=�:DUV]DZD ����� ��� $
:\QLN�OHSV]\�RG�5HNRUGX�3ROVNL����ODW

�� &,ĉĩ.2:6.,�'RPLQLN �� -25'$1�.UDNyZ ����� ��� $
�� /8':,&=$.�3LRWU �� 6+$5.�5XGQD ����� ��� $
�� )$/$&,ē6.,�0DFLHM �� 8.6�026�(áN ����� ��� $
�� .52*8/6.,�)LOLS�62 �� 81,$�2ĞZLĊFLP ����� ��� $
�� 6$/$021�-RQDV] �� *Ï51,.�5DGOLQ ����� ��� $
�� 5(186=�3LRWU �� ��62/(;�/ĊERUN ����� ��� $
�� .2à2'=,(-6.,�)LOLS �� .251(5�=LHORQD�* ����� ��� $
�� .$5.87�.DPLO �� ,.$5�0LHOHF ����� ��� %

��� &=(.$-�.DPLO �� -25'$1�.UDNyZ ����� ��� %
��� 62%27.$�-DQ �� 32/21,$�:DUV]DZD ����� ��� %
��� .5=(:,ē6.,�3DWU\N �� 3LĊWQDVWND�$48$�%\GJRV]F] ����� ��� %
��� :(57(31<�'DPLDQ �� 6+$5.�5XGQD ����� ��� %
��� 02ĝ.2�0LFKDá �� 8.6�5XGD�ĝOąVND�.RFKáRZLF]DQND ����� ��� %

&+52%2.�6]\PRQ �� *,/86�*LORZLFH ����� ��� %
��� 58'1,&.,�0DFLHM �� ĝ/Ą6.�:URFáDZ ����� ��� %
��� 1,(:2'2:6.,�+XEHUW �� 8.6�026�(áN ����� ��� "

62%&=$.�3LRWU �� 2/,03,$�3R]QDĔ ����� ��� "
��� .2ĝ&,(/$.�$GDP �� :$57$�3R]QDĔ ����� ���
��� .86.2:6.,�$GDP �� 25.$�&LHFKDQyZ ����� ���
��� 5$'/,ē6.,�,JQDF\ �� 25.$�=DPRĞü ����� ���
��� -$1,&.,�0DWHXV] �� 6.$53$�/XEOLQ ����� ���
��� 1,(0&=<.�7RPDV] �� 3LĊWQDVWND�$48$�%\GJRV]F] ����� ���
��� .5Ï/�$UWXU �� 62.Ïà�5]HV]yZ ����� ���
��� 3$'à2�.DPLO �� :$57$�3R]QDĔ ����� ���
��� 6=<0&=$.�.U]\V]WRI �� -89(1,$�:URFáDZ ����� ���
��� /,7:$�.U]\V]WRI �� -25'$1�.UDNyZ ����� ���
��� .$5:$7�.U]\V]WRI �� 1$:$�6NLHUQLHZLFH ����� ���
��� .,&$�3DZHá �� -25'$1�.UDNyZ ����� ���

ĩ8.2:6.,�&H]DU\ �� $73�$XJXVWyZ ����� ���
026&,&.,�-DQ �� 73�2/,03,-&=<.�$OHNVDQGUyZ�àyG ����� ���

��� 7(/,&=$1�.U]\V]WRI �� ��62/(;�/ĊERUN ����� ���
��� 025$:6.,�-DNXE �� ':Ï-.$�025(1$�*GDĔVN ����� ���
��� 68/,0$�)LOLS �� :2'1,.�5DGRP ����� ���
��� &+83.$�5DGRVáDZ �� :,/$12:,$�:DUV]DZD ����� ���
��� 6$),1�.RQUDG �� '(/),1�7DUQREU]HJ ����� ���
��� 3,$7.2:6.,�0DUFLQ �� 32/21,$�:DUV]DZD ����� ���
��� 3$:/,6,$.�.DURO �� $67520$/�$.:$:,7�/HV]QR ����� ���
��� 0$&,83$�-DFHN �� 0.3�6]F]HFLQHN ����� ���
��� $8*867<1,$.�.HYLQ �� ':Ï-.$�025(1$�*GDĔVN ����� ���
��� :$/&=$.�$OHNV �� ��2ĪDUyZ�0D]RZLHFNL ����� ���
��� 2-&=<.�*U]HJRU] �� -25'$1�.UDNyZ ����� ���
��� 3,(752ē�0DWHXV] �� 25.$�&LHFKDQyZ ����� ���
��� 02672:6.,�.U]\V]WRI �� 58&+�*UXG]LąG] ����� ���
��� -$5$6=.,(:,&=�%DUWRV] �� 3261$1,$�3R]QDĔ ����� ���
��� =<&+�NDPLO �� :,.,1*�%U]HVNR ����� ���
��� 5$&=.2:6.,�3LRWU��'DQLHO �� 2/,03,-&=<.�6XZDáNL ����� ���
��� %,(/$�.DPLO �� 3LĊWQDVWND�$48$�%\GJRV]F] ����� ���
��� 3ĉ.8/�:LNWRU �� ĩ2/,%25=�:DUV]DZD ����� ���
��� =$-Ą&�3DZHá �� =1,&=�.RV]DOLQ ����� ���
��� &+0,(/�.DFSHU �� 0.3�6]F]HFLQHN ����� ���
��� %,(ē�.DPLO �� :$57$�3R]QDĔ ����� ���



6SODVK�0HHW�0DQDJHU�����%XLOG����� 5HJLVWHUHG�WR�3ROLVK�6ZLPPLQJ�)HGHUDWLRQ �������������������6WURQD��

0LVWU]RVWZD�3ROVNL�Z�Sá\ZDQLX�-XQLRUyZ�0á�����ODW
'ĊELFD���������������

.RQNXUHQFMD�����&KáRSFyZ����P�JU]ELHWRZ\��(OLPLQDFMH�����ODW

3R]\FMD 5RN�XU� &]DV 3NW�

��� )(/,ē&=$.�:RMFLHFK �� 6.6�����'(/),1�àyGĨ ����� ���
:$:5=<1,$.�0LFKDá �� $67520$/�$.:$:,7�/HV]QR ����� ���

��� 6.2&=</$6�$GDP �� :2'1,.����.DWRZLFH ����� ���
��� .$/,1$�5DGRVáDZ �� %2%5<�'ĊELFD ����� ���
��� +$'$ĝ�0DWHXV] �� :$57$�3R]QDĔ ����� ���
��� 5$'=,6=(:6.,�-DNXE �� :2'1,.�%LHOVN�3RGODVNL ����� ���
��� *$à(&.,�0DWHXV] �� %8.6�:DUV]DZD ����� ���
��� :<6=<ē6.,�'DQLHO �� ĝ/Ą6.�:URFáDZ ����� ���

3$68/$�)LOLS �� 75Ï-.$�àyGĨ ����� ���
��� :$/(:6.,�5DIDá �� -$*,(//21.$�:DUV]DZD ����� ���
��� =$:$'=.,�$GULDQ �� 3261$1,$�3R]QDĔ ����� ���
��� 6$/:$�3LRWU �� 6$/26�&257,/(�.LHOFH ����� ���
��� ĩ$&=(.�-HUHPL �� 26752%5$06.$�:DUV]DZD ����� ���
��� 52-(.�0LFKDá �� :$56=$:,$1.$�:RGQ\�3DUN ����� ���
��� 0,&+$/$.�3LRWU �� 26752%5$06.$�:DUV]DZD ����� ���
��� %85=<ē6.,�.DPLO �� 6.5$�%HáFKDWyZ ����� ���


